>subfamily0 count=28821 pvalue=5e-388 ( parent pvalue=5e-388 )
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagctgggcatggtggegegt
gcctgtaatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggceggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtcectce

>subfamilyl count=580 pvalue=8e-118 ( parent pvalue=5e-388 ) parent=0 muts=
199:c/t 162:a/g 19:a/c
ggccgggcgcggtggctcacgectgtaatcccagcactttgggaggeccgaggcgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggegegtg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggaggceggaggttgeggtgageecga
gatcgcgccattgcactccagectgggtaacAagagcgaaactcececgtcete

>subfamily2 count=396 pvalue=7e-139 ( parent pvalue=5e-388 ) parent=0 muts=
186:g/a 99:t/a 66:g/a
ggccgggcgcggtggctcaagectgtaatcecccagcactttgggaggecgaggegggtggatcacaaggtcaagagat
cgagaccatcctggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaaAttagectgggcatggtggtgegt
gcctgtaatcccagctactcaggaggctgagacaggagaattgcecctgaacccaggaggcggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtcetce

>subfamily3 count=56 pvalue=4e-102 ( parent pvalue=5e-388 ) parent=0 muts=
87:t/g 77:a/t 65:-/t
ggccgggcgcggtggctcacgectgtaatcccagcactttgggaggeccgaggcgggtggatcacaaggtcaggagtt
cgagaccagcctggccaaaatgttgaaacceccgtctctactaaaaatacaaaaattagectgggecgeggtggecacgeg
cctgtaatcccagctactcaggaggctgaggcaggagaatcecgecttgaacctgggaggeggaggttgcagtgageecga
gatcgtgccattgcactccagectgggtgacagagtgagactectgtcetce

>subfamily4 count=1544 pvalue=le-641 ( parent pvalue=5e-388 ) parent=0 muts=
203:a/g 174:c/t
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggeccgaggegggtggatcacgaggtcgagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaaActagctgggegtggtggegegt
gcctgtaatcccagctacttaggaggctgaggcaggagaattgecctgagecccaggaggcggaggttgeggtgagecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtcete

>subfamily5 count=1171 pvalue=le-451 ( parent pvalue=5e-388 ) parent=0 muts=
159:g/a 87:t/a
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggccgaggegggtggatcacaaggtecgagagat
cgagaccaacctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagctgggcatggtggegegt
gcctataatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggceggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtetce

>subfamily6 count=233 pvalue=3e-62 ( parent pvalue=8e-118 ) parent=1 muts=
212:g/a 51:g/a
ggccgggcgcggtggctcacgectataatcccagcactttgggaggeccgagacgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggecgcacg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggagacggaggttgeggtgageccga
gatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtcetce

>subfamily7 count=79 pvalue=le-51 ( parent pvalue=8e-118 ) parent=1 muts=
265:g/c 89:c/t
ggccgggcgcggtggctcacgectataatcecccagcactttgggaggeccgaggegggtggatcacgaggtcaagagat
cgagaccatcttggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaattagccgggecgtggtggtgcacg
cctgtagtcccagctactecgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gatcgtgccattgcactccagecctgggtaacAacagcgaaactcecegtcectce

>subfamily8 count=48 pvalue=8e-118 ( parent pvalue=8e-118 ) parent=1 muts=
259:g/- 190:g/a
ggccgggcgcggtggctcacgectgtaatcccagcactttgggaggeccgaggcgggtggatcacgaggtcaagagat
cgagaccatcctggccaacatggtgaaaccccecgtctctactaaaaatacaaaaattagectgggecgtggtggegegtg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgcagtgageecga
gattgtgccactgcactccagectggcgacagagcaagactctgtcete

>subfamily9 count=71 pvalue=4e-48 ( parent pvalue=8e-118 ) parent=1 muts=
274:t/c 174:c/a
ggccgggcgcggtggctcaagectgtaatcecccagcactttgggaggecgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggcgcacg



cctgtagtcccagctactagggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgageecga
gatcgcgccattgcactccagectgggtaacAagagcgaaacccegtcete

>subfamilyl0 count=58 pvalue=le-26 ( parent pvalue=5e-388 ) parent=0 muts=
92:g/a 74:g/a
ggccgggcgcggtggctcaagectgtaatcccagcactttgggaggeccgaggegggtggatcacgaggtcaaaagat
cgagaccatcctgatcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagctgggcatggtggegegt
gcctgtaatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggcggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcegtcete

>subfamilyll count=63 pvalue=6e-61 ( parent pvalue=5e-388 ) parent=0 muts=
171:a/- 153:g/c
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagectgggecgtggtggegectg
cctgtaatcccagctcgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecgagat
cgcgccattgcactccagectgggtaachAagagcgaaactcecegtetce

>subfamilyl2 count=55 pvalue=2e-17 ( parent pvalue=5e-388 ) parent=0 muts=
277:9/c 119:t/c
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggeccgaggcegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctaccaaaaatacaaaaaAttagectgggcatggtggegegt
gcctgtaatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggcggaggttgeggtgagecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcectcete

>subfamilyl3 count=48 pvalue=3e-48 ( parent pvalue=8e-118 ) parent=1 muts=
52:c/a 6:g9/a
ggccggacgcggtggctcacgectgtaatcecccagcactttgggaggeccgaggagggtggatcacgaggtcaagagat
cgagaccatcttggccaacatggtgaaaccccgtctctactaaaaatgcaaaaaAttageccggacgtggtggecacat
gcctgtaatcccagctacttgggaggctgagacaggagaattgcttgaacccaggaggceggaggttgeggtgageecg
agaatgcgccattgcactccagcctgggcaacaAgagcgaaactcecegtcetce

>subfamilyl4 count=40 pvalue=5e-15 ( parent pvalue=5e-388 ) parent=0 muts=
80:g/t 22:c/t
ggccgggcgcggtggctcaagcecttgtaatcccagcactttgggaggeccgaggcgggtggatcacgaggtcgagagat
ctagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagectgggcatggtggtgegt
gcctgtaatcccagectactcaggaggctgaggcaggagaattgcctgaacccaggaggcggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcaaaactcecegtcete

>subfamilyl5 count=42 pvalue=le-17 ( parent pvalue=le-641 ) parent=4 muts=
100:g/a 19:a/-
ggccgggcgcggtggctcagectgtaatcecccagecactttgggaggccgaggcecgggtggatcacgaggtcgagagatce
gagaccatcctggtcaacatagtgaaaccccgtctctactaaaaatacaaaaaActagctgggegtggtggegegtg
cctgtaatcccagctacttaggaggctgaggcaggagaattgecctgagecccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagectgggtaacGagagcgaaactcecegtete

>subfamilyl6é count=94 pvalue=1le-6 ( parent pvalue=5e-388 ) parent=0 muts=
146:g/a 98:a/t
ggccgggcgcggtggctcaagectgtaatcccagcactttgggaggeccgaggcgggtggatcacaaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctattaaaaatacaaaaaAttagectgggcatggtggggegt
gcctgtaatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggceggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtetce

>subfamilyl7 count=49 pvalue=3e-26 ( parent pvalue=8e-118 ) parent=1 muts=
187:c/t 1l66:c/t
ggccgggcgcggtggctcacgectataatcccagcactttgggaggeccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggegegeg
cctgtagtcctagctactcgggaggctgaggtaggagaattgecttgaactcaggaggcggaggttgeggtgageccga
gatcgtgccattgcactccagecctgggtaacAagagcgaaactccatctce

>subfamilyl8 count=57 pvalue=9e-26 ( parent pvalue=7e-139 ) parent=2 muts=
109:c/t 96:a/g
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccecgtctctactaaaaatacaaaaaattagctgggcacgtgectgtaa
tcccagctactcaggaggctgaggcaggagaattgectgaacccaggaggcggaggttgeggtgagecgagatecgeg
ccattgcactccagecctgggtaacaAgagcgaaactcecegtcete



>subfamilyl9 count=81 pvalue=2e-17 ( parent pvalue=7e-139 ) parent=2 muts=
109:c/t 96:a/g
ggccgggcgcggtggctcaagectgtaatcecccagecactttgggaggeccgaggecggggggatcacgagggcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggegegtg
cctgtaatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagectgggtaachAagagcgaaactcecegtcectce

>subfamily20 count=16 pvalue=5e-9 ( parent pvalue=4e-102 ) parent=3 muts=
243:t/c
ggccgggcgcggtggctcacgectgtaatcccagcactttgggaggeccgaggcgggcecggatcacaaggtcaggagtt
cgagaccagcctggccaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcecgtagtggcacgcea
cctgtaatcccagctactcaggaggctgaggcaggagaatcecgecttgaacctgggaggeggaggttgcagtgagecga
gatcatgccactgcactccagectgggtgacagagtgagactcecgtcete

>subfamily21 count=141 pvalue=4e-174 ( parent pvalue=8e-118 ) parent=1 muts=
174:c/a
ggccgggcgcecggtggctcacgectgtaatcecccagcactttgggaggecgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggcgcacg
cctgtagtcccagctactagggaggctgaggcaggagaattgcttgaacccaggaggcggaggttgeggtgageccga
gatcgcgccattgcactccagectgggtaacAagagcgaaactcecegtete

>subfamily22 count=172 pvalue=8e-49 ( parent pvalue=8e-118 ) parent=1 muts=
99:t/a
ggccgggcgcggtggctcacgectgtaatcccagecactttgggaggccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaattagectgggcatggtggegegtg
cctgtagtcccagctactecgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagectgggtaachAagagcgaaactcecegtete

>subfamily23 count=75 pvalue=2e-4 ( parent pvalue=8e-118 ) parent=1 muts=
243:t/c
ggccgggcgcggtggctcacgectgtaatcccagecactttgggaggeccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggegegtg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gatcgcgccactgcactccagectgggtaacAagagcgaaactcecegtete

>subfamily24 count=363 pvalue=le-9 ( parent pvalue=8e-118 ) parent=1 muts=
199:t/c
ggccgggcgcggtggctcacgectgtaatcecccagcactttgggaggecgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggegegtg
cctgtagtcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggcggaggttgeggtgageecga
gatcgcgccattgcactccagectgggtaachAagagcgaaactcecegtcectce

>subfamily25 count=49 pvalue=1le-5 ( parent pvalue=8e-118 ) parent=1 muts=
212:g/a
ggccgggcgcggtggctcaagectgtaatcccagcactttgggaggeccgaggcgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggecgcacg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggagacggaggttgeggtgageccga
gatcgcgccattgcactccagectgggtaacAagagcgaaactcececgtcete

>subfamily26 count=29 pvalue=5e-230 ( parent pvalue=4e-48 ) parent=9 muts=
210:a/g
ggccgggcgcggtggctcaagectgtaatcecccagcactttgggaggecgaggegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggcgcacg
cctgtagtcccagctactagggaggctgaggcaggagaattgcttgaacccagggggcggaggttgeggtgageccga
gatcgtgccattgcactccagecctgggtaacAagagcgaaacccecegtcetce

>subfamily27 count=33 pvalue=2e-146 ( parent pvalue=le-51 ) parent=7 muts=
96:a/g
ggccgggcgcggtggctcacgectataatcccagcactttgggaggeccgaggcgggtggatcacgaggtcaagagat
cgagaccatcttggtcagcaaggtgaaaccccgtctctactaaaaatacaaaaattagccgggcatggtggtgcacyg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gattgtgccattgcactccagecctgggtaachAacagcgaaactcecegtcete

>subfamily28 count=48 pvalue=3e-124 ( parent pvalue=8e-118 ) parent=8 muts=
161:a/g



ggccgggcgcggtggctcacgectgtaatcccagecactttgggaggccgaggegggtggatcacgaggtcaagagat
cgagaccatcctggccaacatggtgaaaccccgtctctactaaaaatacaaaaattageccgggcatggtggecacgtg
cctgtggtcccagctactecgggaggctgaggcggaagaatcgecttgaacccaggaggcggaggttgecagtgageecga
gattgcgccactgcactccagectggtgacagagcaagactcecegtcete

>subfamily29 count=11 pvalue=2e-110 ( parent pvalue=le-26 ) parent=10 muts=
254:c/a
ggccgggcgcggtggctcaagectgtaatcccagcactttgggaggeccgaggegggtggatcacgaggtcaaaagat
cgagaccatcctgatcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagectgggcatggtggecgegt
gcctgtaatcccagctactcaggaggctgaggcaggagaattgecctgaacccaggaggcggaggttgeggtgagecg
agatcgcgccattgcactccagactgggtaacAagagcgaaactcecgtcte

>subfamily30 count=37 pvalue=2e-100 ( parent pvalue=7e-139 ) parent=2 muts=
148:g/t
gccgggcgcggtggctcaagcecctgtaatcccagecactttgggaggccgaggcgggtggatcacaaggtcaagagatce
gagaccatcctggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaaAttagectgggcatggttgtgegtg
cctgtaatcccagctactcaggaggctgagacaggagaattgcctgaacccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagectgggtaacAagagcgaaactcecegtcectce

>subfamily31l count=20 pvalue=1le-56 ( parent pvalue=le-51 ) parent=7 muts=
254:c/t
ggccgggcgcggtggctcacgcectataatcccagcactttgggaggeccgaggcgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggtgcatg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggaggceggaggttgeggtgageecga
gatcgtgccattgcactccagtctgggtaacAacagcgaaactceccgtcete

>subfamily32 count=20 pvalue=3e-51 ( parent pvalue=7e-139 ) parent=2 muts=
254:c/g
ggccgggcgcggtggctcaagectgtaatcecccagcactttgggaggecgaggegggtggatcacaaggtcaagagat
cgagaccaacctTggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaaAttagectgggcatggtggtgca
tgcctgtaatcccagctactcaggaggctgagacaggagaattgcecctgaacccaggaggcggaggttgeggtgagcece
gagatcgtgccattgcactccaggctgggtaachAagagcgaaacteccgtcte

>subfamily33 count=91 pvalue=3e-48 ( parent pvalue=8e-118 ) parent=1 muts=
88:c/t
ggccgggcgcggtggctcacgectgtaatcccagecactttgggaggccgaggegggtggatcacgaggtcaagagat
cgagaccattctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagectgggcatggtggegcacg
cctgtagtcccagctactecgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagectgggtaachAagagcgaaactcecegtete

>subfamily34 count=24 pvalue=4e-46 ( parent pvalue=3e-62 ) parent=6 muts=
171:a/t
ggccgggcgcggtggctcacgectataatcccagcactttgggaggeccgagacgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggecgcacg
cctgtagtcccagcttctecgggaggectgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagecctgggtaachAagagcgaaactcecegtcetce

>subfamily35 count=28 pvalue=2e-42 ( parent pvalue=8e-118 ) parent=8 muts=
101:g/a
ggccgggcgcggtggctcacgectgtaatcecccagcactttgggaggeccgaggegggceggatcacgaggtcaagagat
cgagaccatcctggccatgatgaaaccccecgtctctactaaaaatacaaaaattageccgggtgtggtggcacgegect
gtagtcccagctactcgggaggctgaggcggaagaatcgecttgaacccaggaggcggaggttgcagtgagecgagat
tgcgccactgcactccagectggcgacagagcaagacteegtete

>subfamily36 count=34 pvalue=3e-35 ( parent pvalue=le-641 ) parent=4 muts=
204:c/a
ggccgggcgcggtggctcaagectgtaatcccagcactttgggaggeccgaggecgggtggatcacgaggtcgaaagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaTAaaactagctgggcatggtggecgeg
tgcctgtaatcccagctacttaggaggctgaggcaggagaattgecctgagaccaggaggcggaggttgeggtgagece
gagatcgtgccattgcactccagcctgggtaachAagagcgaaactecegtetce

>subfamily37 count=25 pvalue=9e-32 ( parent pvalue=le-451 ) parent=5 muts=
233:g9/t
ggccgggcgcggtggctcaagectgtaatcecccagcactttgggaggecgaggegggtggatcacaaggtecgagagat
cgagaccaacctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagctgggcatggtggegegt



gcctgtaatcccagectactcaggaggctgaggcaggagaattgcctgaacccaggaggcggaggttgeggtgageecg
atatcgcgccattgcactccagectgggtaacAagagcgaaactcecegtcete

>subfamily38 count=10 pvalue=4e-28 ( parent pvalue=8e-118 ) parent=8 muts=
146:g/t
ggccgggcgcggtggctcacgectgtaatcccagcactttgggaggeccgaggcaggtggatcacgaggtcaagagat
cgagaccatcctggccaacatggtgaaaccccgtctctactaaaaatacaaaaattagccgggegtttggecacgege
ctgtagtcccagctactcgggaggctgaggcggaagaatcgecttgaacccaggaggcggaggttgcagtgagecgag
actgcgccactgcactccagcctggcaacagagcaagactcecegtcetce

>subfamily39 count=25 pvalue=4e-11 ( parent pvalue=le-451 ) parent=5 muts=
174:c/g
ggccgggcgcggtggctcaagectgtaatcccagecactttgggaggccgaggtgggtggatcacaaggtecgagagat
cgagaccaacctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaaAttagectgggcatggtggcgegt
gcctataatcccagctactgaggaggctgaggcaggagaattgecctgaacccaggaggcecggaggttgeggtgageecg
agatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtetce

>subfamily40 count=23 pvalue=9e-10 ( parent pvalue=8e-118 ) parent=1 muts=
152:c/a
ggccgggcgcggtggctcacgectataatcccagcactttgggaggeccgaggcegggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggtgagtyg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggaggcggaggttgeggtgagecga
gatcgcgccattgcactccagectgggtaacAagagcgaaactcecegtete

>subfamily4l count=10 pvalue=4e-7 ( parent pvalue=3e-62 ) parent=6 muts=
88:c/a
ggccgggcgcggtggctcacgectataatcecccagcactttgggaggeccgagacgggtggatcacgaggtcaagagat
cgagaccatactggtcaacatggtgaaaccccgtctctactaaaaataaaaaaaatagctgggcatggtggcgcacg
cctgtagtcccagctactecgggaggctgaggcaggagaattgecttgaacccaggagacggaggttgeggtgagecga
gatcgcgccattgcactccagecctgggtaacagagcgaaactcecgte

>subfamily42 count=10 pvalue=4e-7 ( parent pvalue=3e-62 ) parent=6 muts=
108:c/g
ggccgggcgcggtggctcacgectataatcccagcactttgggaggccgagacgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaacgccgtctctactaaaaatacaaaaattagctgggcatggtggcgcacg
cctgtagtcccagctactcgggaggctgaggcaggagaattgecttgaacccaggagacggaggttgeggtgageecga
gatcgcgccattgcactccagectgggtaacAagagcgaaactcectgtcete

>subfamily43 count=32 pvalue=9e-6 ( parent pvalue=7e-139 ) parent=2 muts=
151:g/t
ggccgggcgcggtggctcaagectgtaatcecccagcactttgggaggecgaggegggtggatcacaaggtcaagagat
cgagaccatcttggtcaacaaggtgaaaccccgtctctactaaaaatacaaaaaAttagctgggcatggtggectegt
gcctgtaatcccagctactcaggaggctgagacaggagaattgcecctgaacccaggaggcggaggttgeggtgageecg
agatcgtgccattgcactccagecctgggtaacAagagcgaaactcegtcete

>subfamily44 count=10 pvalue=3e-5 ( parent pvalue=8e-118 ) parent=1 muts=
212:g/c
ggccgggcgcggtggctcacgcettgtaatcccagcactttgggaggeccgaggcgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaatacaaaaattageccgggcatggtggegcacge
ctgtagtcccagctactcaggaggctgaggcaggagaattgecttgaaccecgggagecggaagttgcagtgagecagag
atcgcgccattgcactccagecctgggtaacAagagcgaaacteegtete

>subfamily45 count=10 pvalue=le-4 ( parent pvalue=3e-62 ) parent=6 muts=
173:t/c
ggccgggcgcggtggctcacgectataatcccagcactttgggaggctgagacgggtggatcacgaggtcaagagat
cgagaccatcctggtcaacatggtgaaaccccgtctctactaaaaatacaaaaattagctgggcatggtggcacacg
cctgtagtcccagctacccgggaggctgaggcaggagaattgecttgaacccaggagacggaggttgeggtgagecga
gatcgcgccattgcactccagecctgggtaacAagagcgaaactcecegtcetce



